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€02
[
€02 33,235 tC02/ H24 31,621 C02/ (H29)
€02 30.6tC02 H24 31.5 (€02 (H29)
810 H24 1,141 H29
[
H25 H27 H29
€02 33,235 tC02/ |32,000 tCO02/ |31,621 tC02/
€02
30.6 tC02/ 30.9 tC02/ 31.5 tC02/
810 1.000 1.141
3,791.0 3,730.0 0 3.2 57.8 0.1%
1
H25 H26 H27 H28 H29
54ha
1-A-1 3,730.0
3,730.0
H25 H26 H27 H28 H29 | |
0.0 | |
H25 H26 H27 H28 H29
1-C-1 0.9
1-C-2 2.3
3.2
1-C-1 1-A-1
1-C-2 1-A-1




H25

H26

H27

H28

H29

1-D-1 6 0.19 2.0
1-D-2 7 0.22 24.8
1-D-3 8 0.37 31.0
57.8
1-D-1 1-A-1
1-D-2 1-A-1
1-D-3 1-A-1
H26 H27 H28 H29
a 220.985 366.000 499.400 8.700
0.000 0.000 48.812 0.000
b
c=ath 220.985 366.000 450.588 8.700
d 742.264 179.955 74.022 436.199
e 783.294 471.933 88.411 442.299
f 179.955 74.022 436.199 2.600
g 6.980 1.300 0.000 0.000
h = ctd-e-f 0.000 0.000 0.000 0.000
0.7% 0.2% 0.0% 0.0%

(h = (g+h)/(c+d)

10




|
100m  200m  300m  400m  500m 600m  700m  800m  900m  1000m







25

29 | 25

29

97

50
10

DID

24

DID

24

21 1
12

25 3

3
12 3




co2 tco2/ co2 C0o2 33,235 31,621
H24 H29
Cco2
co2 tco2/ CcOo2 CcOo2 306 315
H24 H29
/ 810 1,141
H24 H29




1015

1013
1001

NPO

NPO

21




3,730.0 1,865.0 | 05
1013 L=97 25 27 25 27 199 199 199 199
1001 L=121 25 28 25 28 35.0 35.0 35.0 35.0
A=0.66ha 18 29 25 29 768.7 2297 2297 2297
A=0.19ha 23 27 25 27 460.9 1906 1906 1906
A=376 21 28 27 28 812 95 95 95
163 25 27 25 27 808.8 808.8 808.8 2022
63 25 26 25 26 2236 2236 2236 55.9
L=239m 22 29 25 29 834 36.4 36.4 36.4
4 27 29 27 29 15 15 15 15
A=1913 25 27 25 27 7614 7614 7614 7614
A=3117 25 27 25 27 11589 11589 11589 11589
A=22500 27 29 27 29 6276.0 6276.0 3000.0 3276.0 993.0
44 22 27 25 27 95.0 54.0 36.0 18.0 36.0
107743 9805.3 65113 32940 37300
00 00 0.0 0.0 0.0
(A+B) 37300




L=880m 21 25 480

1015 L=299m W=105m 22 25 280
L=37.5m W=6.5m o) 21 28 19

) 24 25 100

A=9,747 o 25 27 2,676

) 27 29 2,007

A=5,770 ) 27 29 700

6,262
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co2 CcCo2/ 33,235 24 - 31,621 29

coz Cco2/ 30.6 24 - 315 29
/ 810 24 — 1141 29
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